8+50

1R 2R 3R SF F SF 3R 2R 1R
1 5BTC (5HTC) 17 JLRY— (FLYRY—TC)
2-1 3-0
36 61
64 61
2 bye 6 o 18 A0 (F+0)
2-1 2-1
36 36
3 F—LIN—450 GER/S—HTC) g; gf 19 KENEKNSKLTI—S (KENKENTC)
2-1 2-1
60 64
s SEMT=RY3T  GERYS5T) 2 7 20 AGURKOBS (AGURKOBS)
2-1 2-1
36 46
5 BRBIEES EXRitEEs) o & 21 Frhii=— (F-hor8=—)
30 2-1
60 62
6 JYoX @y x) 8 e 2 SEMYUT—F  GEfyo7T—T0)
2-1 2-1
16 2-0 36
7 KENKEN¥Y>YI—S  (KENKENTC) 64 64 75 23 bye
63 81 61
w.0
8 AAO.T.T (AAO-T-T) 24 XnOvk (FrOvk)
2-0 2-1
61 75
9 ONC (ONC) 63 - 25 MTC (MTC)
2-1
63
10 bye o 28 GO TO F=RX  (RLTS)
2-1 2-0
62 62
1 UYTC-50 (UYTC) g‘; 62 21 TMY (T™Y)
2-1 2-1
60 67(8.
12 g—X (a—=x) o %2 28 JLRHYA50 S 2
2-0 2-0
62 60
13 Rick (Rick) 60 62 2 EHEE (EHEE)
2-1 2-1
67(9, s . 64
_ —FIEfL
14 JPIF=50 Fa—n) s 2 0 S&S (S&S)
2-1 3-0
60 73
15 bye gg @ |5HTC g; 31 bye
16 FRRH—X (FRRH—X) @ |#EM/—550 2 SHM/N—H50  CGEf/S—oTC)




